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8. I'invest $1000 in a term deposit. Each yexu it increases its value by 5.2%.

(a) Find a formula to express the total amount | will have in my account after n yaays .

(b} How much money will | have after i0 years?
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Product - Sum_method
- reds  wovk backwards

A+ 2D (43 = (43 +2((+3)
=X 43x% 4 9v+ L

2
= X 45X + ¢

4 7

Not1w b=d¥ 3
N
L Gtven 7?5y
: A +5% +6 we  want 2 numbesd

Wohose produd =6
} o
SUm = §

g Q. G
Write A+ 5 +L - :(2_; B F X+ L

= X (AH3D 4+ 2 (A3
= (x4+2) (X+ 2D

gﬂ?’) 114-6?7( + A0

E/Y’Od = 20 gi 4
SUMA =9

0, ‘I.'er 9 + 20 = x,2+ Sy+ 4% + 20
_ 4 OB + 4 0s)

= (A 5) (>(+4 )

e

Do we have 4o go fhrough
whole process ?



' 2
3) A 4 3x— 0

Pyod= —1 -
Y OC 0 g ":7,"2
Sum= >

2?42y -0 = (X+5)(X-2)

2
Y 2 —Bx —o

7 — _
vod 0] 25 )
Sum =z — 3

X2 3x—10 = (=542

Te  actual rule =

T Lactorise q quadvafic  ax 4 oA +C

Fvd 2 numbers  Whoe  Podud = axc
Sum = b

€) Factorise 2 <+ Ix+4

© want 2 numbewt  whae  prod = 2x 4 = 8 E 8
sum =9

Tois Wi 234 9544 £ (a4 O(x+2 )

Tnshead 2 4944 = 20 +x + 82 + 4
- (D FA(HD)
- (24 D)



2) Bxtix—10
) ﬂ _
rrod=—10%x2 = =30 5, 6
Sum = gﬂb/

- 3x1+éx,5'xpzo

T (){+ 2) _ 5(7(-#2,)

= (x42) (3% -5)

P Xt -2
601’0615 -——}’Z?(é - } }C?’S
Sum = — |
Cx " — Iy 4 &x - (2
(21_5)[39(‘*4)

\

i

(ak Try 85~ Problam 5€ﬂ



vove Algebraic  Fractomn
e S

SlWlPll—]Qmj -

)

* 4+ 6x + 9

e i .

2) X+Y
X7 —4y>

11

-—
iy

x4+ Y

"2,
(A4 2D7 _ oy
B

. éﬁ»—%x

(x+ 2Lj> (7('2%) |

2+ 2sz

3 (Zul — 76)
2(')(—{—Lj )

x4 =3 (229D

(7(423)(17@%) 2 (4 y)

=3

2C%+2ﬂ)

'xz_«jl | \
& |

Lo = X —y* +<;+9)

o

i

0

11_31 - (\ﬂJm()

%4
22 Sy
Ty Wt X
= (D(Jg,»é(xfup Y
YL

= Y (-4 )

(é— Note were assuming

el -2

N
]

¥



=

4) .4)(2_' L bxt?
2% Ix +4 -
- Qx+Dx-0 - 2 (2x+1)
(29 =) O = 4) (__ 4-x
_— .3 .
- . B2i, %148
- (2 1)@ 1) 4 —2C 2% X ~Gx +4
. . =X (ZX —'3 - 4(2-7(’0
(2= (x=ad 3 (29041 - (2x N4
. A
2 (o —4)
= = 5t —z{--)
2 (2 —4)
= —_
=
2 o £ B
] - o et
N B 1 4 5
(24X~ > (A=) x (1)
9 — (x4 ABx—1)
X (XHDCX=1D
Dol =9 =] 4 B W =5
2 (XD (x-0)
Cx -6 e (x—=1) G
L OAD D rECLIDIEED > (o))



é) o i R

et —_— -
2

B Lt Y S »37—

fon o . t’_& o 27(}j

x—bhy OO

_ o x (r4y) =y -y - 214
C)Hﬂp(?(-ﬂ)

X

Ao — ety - 2y
(7(+@ (x Pﬂﬁ

> 2 B QDCUBJH*\?"

ETTIEETY

= (A — LL/DQ/
CETNICED

= A Y

DC_-Hg




